Cub Cadet Papis NCsEOEHRModdiseoadteicsarts Call 606-678-9623 or 606-561-4983

Full download: http://manual pl ace.com/downl oad/cub-cadet-parts-manual -for-model-3204-tractor/

3204 Tractor
Air Intake Aluminum

N

Thisisthe cut pages sample. DOWWWF}QOW@FM{@ com

o~
" = LR
Zz A A
= =g 1
=) - 1
~ =%
T2
J g

P
LN
S
AanaaaaaaaS
<Al
AannniTEEEaSS
S0y O aaaiaaEaee /i

SN
S \\\\\x\\x\\\\\“\\\ﬁxy/\\ 5

e e _
RS @A S II il
I R S A N ‘m‘w [

.,
\\

A
e
2
~ i =5/
H | = i
P -
L S5 -
& -
T~
P, (4 J N T
[l g
R
—
T T
g NN
v Ny
s — A
i r e T A\ R n
11 . hY | i P m—___ o 1
Ly = A aa] ~
LN ') S g
R N I
N o ot 4
N e
e

(o]

Page 1 of 64



http://manualplace.com/product/cub-cadet-parts-manual-for-model-3204-tractor/

For Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983

3204 Tractor
Air Intake Aluminum

Page 2 of 64

Ref#  Part Number Qty S/P/F  Description
1 KH-54-755-01 1 S  Kit, Knob w/Seal (Includes 2,3)
2 KH-25-341-03 1 /P Knob, Cover
3 KH-24-153-20-S 1 Seal, Air Cleaner Cover Knob
4 KH-24-096-69-S 1 /P Cover, Air Cleaner
5 KH-12-100-01 1 /P Wing Nut
6 KH-24-096-01 1 /P Cover, Inner Air Cleaner
7 KH-24-032-03 1 /P Seal, Inner Air Cleaner
8 KH-24-083-02 1 S Precleaner, Element
9 KH-47-083-03 1 S Element, Air Cleaner
10 KH-M-0639016 3 S  Screw, Hex Flange M6 x 1.0 x 16
11 KH-24-126-21 1 Bracket, Air Cleaner Base
12 KH-24-094-03 1 S Base, Air Cleaner
13  KH-M-0651055 4 Screw, Hex Flange M6 x 1.0 x 55
14 KH-25-155-11 1 Connector, Hose 45°.
15 KH-25-237-14-S 2 /P Clamp, Hose
16  KH-15-353-02-S 1 Line, Fuel 17"
17 KH-24-164-29 1 Manifold, Intake
18 KH-24-041-01 2 /P Gasket, Intake Manifold
19 KH-24-041-06 1 /P Gasket, Air Cleaner Base
20 KH-24-743-08 1 Kit, Air Cleaner Cover (Includes 1-4, 11)

WWW.mymowerparts.com



For Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983

3204 Tractor
Air Intake Plastic

()]

,..
]
e

f
/
|
\
\
~

oy
13
o de]
e Jd
I
A
/1
7\
/
/A
/A
By / \
— 21 / - _
B / N~ @
/ o)
% = '\
-~ S L3
- = TS \
R B e — o f / \
1. 74 e e i T \
if —E — I ~ \
\ KRS < TN PR \
N\ Nge—— _— faaN e \
N\ ~——14 ) 8 ———— \
— — ~ N 2T ——— \
" o ~ ~— (7 — 1\
L. L |y an
e, A ZL
~g

Page 3 of 64



For Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983

3204 Tractor
Air Intake Plastic

Page 4 of 64

Ref#  Part Number Qty S/P/F  Description
1 KH-54-755-01 1 S  Kit, Knob w/Seal (Incl. Ref #2,3)
2 KH-25-341-03 1 /P Knob, Cover
3 KH-24-153-20-S 1 Seal, Air Cleaner Cover Knob
4 KH-24-096-69-S 1 /P Cover, Air Cleaner
5 KH-12-100-01 1 /P Wing Nut
6 KH-24-096-01 1 /P Cover, Inner Air Cleaner
7 KH-24-032-03 1 /P Seal, Inner Air Cleaner
8 KH-24-083-02 1 S Precleaner, Element
9 KH-47-083-03 1 S Element, Air Cleaner
10 KH-M-0639016 3 S  Screw, Hex Flange, M6 x 1.0 x16
11 KH-24-126-21 1 Bracket, Air Cleaner Base
12 KH-24-094-24-S 1 S Base, Air Cleaner
13 KH-24-041-06 1 /P Gasket, Air Cleaner Base
14  KH-M-0651040-S 4 Screw, Hex Flange, M6 x 1.0 x 40
15 KH-24-164-55-S 1 S  Manifold, Intake (Includes Carb Gasket
KH-24-041-53-S and (2) O-Rings
KH-24-153-27-S)
16  KH-24-153-27-S 2 /P O-Ring, Intake Manifold
17 KH-24-743-08 1 Kit, Air Cleaner Cover (Incl 1-4, 11)
18 KH-24-041-53-S 1 Gasket, Carburetor
19 KH-M-0545010 2 /P Screw, Hex Fing, M5 x 0.8 x 10
20 KH-24-126-130-S 1 Bracket, Air Cleaner Base
21 KH-25-155-02 1 /P Connector, Hose 90°.
22 KH-25-237-14-S 2 /P Clamp, Hose
23 KH-15-353-02-S 1 Line, Fuel 17"

WWW.mymowerparts.com



For Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983

Page 5 of 64

3204 Tractor

Blower Housing And Baffles

\\\\\\\
\\\\\\\
\\\\
\\\_\\
\\\\- _— e [ap]
o \\\\\ _Mﬁ%u -
\\\\\\\
\\\\\ \ IlIIIllIII.
\\\\\. _..\ S
N O pe -
TN \ e
\ PAN N NN <
/ AN \ AR NN
A\ | s S NN
WA N0 AN
™ \ () AARY Xe / N\
// o, & /// - / <
) AR\ VW &
III\ \ / ” ¢
- \
=P
e . » -
- ST 7
\.W“W \\\\.\ W AW@
- -~ _Wv i
- E:
\ \\\\. Amw
/ . _
K9]
\Aﬂﬂl N
A// . A
AN Ty \...--A/
/NN .,,mr H =R .
; \ /If.’f,“,./ / P . f.,m. Wu/ v [N
\ n.(/MF _” AMV .D ../nuu \WV “
m . v .
_ { 7N Y
~ p o)) /f N
,II A , \\ // P s
@ N frr
..;//AM_\?j | \h ........ e

o " Mmm,.//mww Ay

\ {5 yﬂy,wuﬁuuﬂx e o

2N VA =
m\ \v /o \mv \
e S LS,
VA /Y

WWW.mymowerparts.com



Cub Cadet Padts NDiseOE#Modd)seoadeidsarts Call 606-678-9623 or 606-561-4983

Full download: http://manual place.com/downl oad/cub-cadet-parts-manual -for-model-3204-tractor/

3204 Tractor Page 6 of 64
Blower Housing And Baffles

Ref#  Part Number Qty S/P/F  Description
1 KH-24-027-163-S 1 Housing, Blower (Includes Grommet
KH-25-313-06-S)
KH-24-100-02 Nut, Plastic
KH-25-139-16 Plug, Button 9/16"
KH-24-100-01 Nut, Plastic

KH-M-0551016

2
3
4
5 Screw, Hex Flange M5 x 0.8 x 16
6 KH-M-0545016
7
8
9
10

S  Screw, Hex Flange M5 x 0.8 x 16
/P Screw, Hex Flange M5 x 0.8 x 20
Plate, Backing #2 Side

S  Screw, Hex Flange M6 x 1.0 x 16
/P Baffle, Cyl. Barrel #2 Side

/P Baffle, Valley #2 Side

/P Screw, Hex Flange M5 x 0.8 x 10
S Baffle, Valley #1 Side

S Baffle, Cyl. Barrel #1 Side

S  Plate, Backing #1 Side

KH-M-0545020
KH-24-146-16
KH-M-0645016
KH-24-063-20
11  KH-24-063-17
12 KH-M-0545010
13 KH-24-063-24
14  KH-24-063-58-S
15 KH-24-146-20

RPRRPNRPRRPORPDMNORWREN
wn

Thisisthe cut pages sample. DOWWWFHOW@F ﬂ&'{@ com



http://manualplace.com/product/cub-cadet-parts-manual-for-model-3204-tractor/

